PPUH AUTO-HAK Sp.J.
Henryk & Zbigniew Nejman
ul. Stoneczna 16K 76-200 SLUPSK
POLAND
tel/fax +48 059 8-414-414; 8-414-413
e-mail: office@autohak.com.pl
www.autohak.com.pl

AUTO /~—\

®

B B TOYOTA PREVIA Cat. no:

=70~ 5D., VAN (ACR3)

X 08.2000 == 12.2005

E20-S5R-01 1399

D 101kN

R=1600 kg

Mo6 - 11 Nm M8 - 25Nm
M10 - 50Nm M12 - 8&7Nm
M14 - 138Nm M16 - 210Nm

< 'i Okm—b‘ 'i 1000 km

AUTO -HHH




x1

O N
NN T~ N [~ ©
x| x| x| x| x| X |X|X X
elle) O w
0|~ M) >
x| X Xva
O[O L0 =
O|NNo|NID F
Nl — S — s
X X| X| X| X| X
aNfovfovfov o ™~ M) AN
P - R SUN b >
Nleo|lo|S 3N 9 a

A

16

x1
Art.nr-KL1060

x1

x1

x1

Art.nr-BL1060

S);




N .
ﬁ M12x1,25x40mm )

Ix @ 2122mm

1x

213mm

Ix




1x ﬁ M12x1,25x30mm

Ix @ 2122mm

1x 237x213x3mm

2x ﬁ M12x1,25x50mm

2x @ 212,2mm
2x z13mm

X @ 212,2mm
2x z13mm

2x M12




1x ﬁ M12x1,25x40mm |14
Ix @ 212,2mm

237x213x3mm

i

6

1

213mm

2x & 212,2mm

2x

2x ﬁ M12x75mm

2x @ 212,2mm

M12x40mm

. §

2x 213mm
.%% Mi12

2x

25 Nm
87 Nm
210 Nm

M8
M12
M16

0km—>< i 1000 km

11 Nm
50 Nm
138 Nm

Q

M6
M10
M14

\




	Strona 1
	Strona 2
	Strona 3
	Strona 4
	Strona 5
	Strona 6
	Strona 7
	Strona 8
	Strona 9

